QUADRATIC EQUATIONS 2
Objective: Solve quadratic equations by factorisation.
                  Matching pairs
	(x + 3)(x + 2) = 0
	x² + 5x + 6 = 0
	(x – 3)(x – 5) = 0

	(x + 4)(x + 10) = 0
	x² + 14x + 40 = 0
	x² - 8x + 15 = 0

	(x + 1)(x + 5) = 0
	x² + 6x + 5 = 0
	(x + 4)² = 0

	(x + 6)(x + 4) = 0
	x² + 10x + 24 = 0
	x² + 8x +16 = 0

	(x + 4)(x – 3) = 0
	x² + x – 12 = 0
	(x – 5)² = 0

	(x+ 3)(x – 1) = 0
	x² + 2x – 3 = 0
	x² - 10x + 25 = 0

	(x – 4)(x + 7) = 0
	x² + 3x – 28 = 0
	


QUADRATIC EQUATIONS 2 (cont.)
Objective: Solve quadratic equations by factorisation.
	x = -3   or
    x = -2
	x = 3   or
    x = 5
	

	x = -4   or
    x = -10
	x = -4
	

	x = -1 or
     x = -5
	x = 5
	

	x = -6   or
    x = -4
	
	

	x = -4   or
    x = 3
	
	

	x = -3   or
    x = 1
	
	

	x = 4   or
     x = -7
	
	


